" | simultaneously on an object. The angle between the two

15. Find the first 4 terms of the sequence
1 = v

- L ,, (a Y4122 s )
=2a,, 1" +1 (e i )Z ShiN

= 2,(63()" 03) ‘
= 79‘(0593‘(//6_}

= 2(56,125)% 1 2430610

/ Write the first five terms of the sequence

4 =6
1
a,,:——a,H+4

£i A(élw 2(7)4¢| _/5 1(7,s)wi7f7‘_
/ (7.77 =78 75"

17. Write a recursive formula for the sequence
9,-18,36.-72, .,

A ==
a/] i “’20(/}1‘/>

/&uu,uwc L B

18. Egor has two parents, four grandparents, and
SO On.
Write an explicit formula and a recursive formula
for the number of ancestors Egor has if we go
back » generations.

Q= 2

WL G '
a/h &n 1 Q’ﬂ/n—

T\ reCyesit Ve ‘léwmc/(,g

19/

In AABC, AC =8, BC = 17, and AB = 20.

a Find the measure of t 1argest angle to the
nearest degree. [6] 106°

5% L e = 2()e)os C Arui

-353 3¢3— 276Ces C oif :
¢ = 276 CesC = Gb W

— 102 =€asC = 79.8 e 67

oo J5ate Y- 72 GsC | ERR

M a rthombus, each side is 15, and one angle is 130°.
Find the area ’of the rthombus, to the neares! square unit.

130_~7¢ —?1: <sin 12601€) /'f)

A,
b Find the area of AABC to the nearest integer. £ ' _ OV

4 ((7660) 225 . /}; 1
S R
= . ;5,' il

)

21. Two forces of 40 and 20 pounds, respectively, act

forces is 40°. a) Find the magnitude of the resultant, to
the nearest tenth of a pound. b) Find the measure of the
angle, to the nearest degree, between the resultant and the

larger force. s KA CU"' ZU Z(\lo)?gccﬁ 4o

(W ?WJ b= "\‘225 Q’]
Y. 3 g Pai
<nl4e _ Sin X . b ¥

S6. & ? re“uﬁ.wr

SInX=2%3- \3 °

l00 £ Gour (Leo (<26l

22. Sam is designing a triangular piece for a metal
sculpture. He tells Martha that two of the sides of the
piece are 40 inches and 15 inches, and the angle opposite
the 40-inch side measures 120°. Martha decides to sketch
the piece that Sam described. How many different

tri s can she sketch that match Sam’s description?

M1J)@ (3)3 (4)0 Show work /e& e

R \ Sin e | SV a1 L3N
Go +? ?:@

Go
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123. A ship at sea heads directly toward a cliff on the
shoreline. The accompanying diagram shows the top of
the cliff, D, sighted from two locations, 4 and B,
separated by distance S. If

mZLDAC =30,m£LDBC =45 | and S = 30 feet, what is

the height of the cliff, to the nearest foot?

( l 9 00 — Yl K 2

l?l\") = S T (c)\ e
24. . A sign 46 feet high is placed on top of an office
building. From a point on the sidewalk level with the
base of the building, the angle of elevation to the top of
the sign and the angle of elevation to the bottom of the
sign are 40° and 32°, xjespectively. Sketch a diagram to
represent the building, the sign, and the two angles, and
find the hexght of the building te the nearest foot.

S‘\(\? s.q Lo

X SR, X
| o 3{/2?8:07 I"?% 2 X
o X P-Q\\ 253 18=¢ |
- 7 ' .Z.
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s sote sy O gme k] RS
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25. A ship at sea is 70 miles from one radio transmitter
and 130 miles from another. The angle between the
signals sent to the ship by the transmitters is 117.4°. Find
the distance between the two transmltters to the neare&

- ¥¥= 16+ 3¢ - U0

o

X l%g

26. A landscape de51gner is designing a triangular
garden with two sides that are 4 feet and 6 feet,
respectively. The angle opposite the 4-foot side is 30°.
How many distinct triangular gardens can the designer

X St ¢ "‘\%L%‘v“
B\?\wce* ) 735"1

make using these measurements? 0
SIN30 _ K Sny NoA
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